(10) 4x(x +2y) -3y
4X(-2)X(-2+2%x2)-3%2

(11) (0.8x> - 0.4y°) +0.2x
(0.8%x (-2) X (-2) X (-2) - 0.4 x

=(8)x2-6=-16-6=-22 53 2%2+02x(-2)

=-64-32-04=-10
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1. RDR%ZE. XFERADRLEICLT=D>TRLEATILY,
(1) 5+x 2) x+(-5) 3) @-b)=c
> @ = @
X C
2. ROBEOMZH Y ADPFDOEMTRLESIL,
(1) 5m¥ xcm (m) (2) akg £ 200¢ Q) (3) xEffE &y (97)
(1) 5+ ﬁ 7213 54001x | (2) 1000 +200 (3) 60x+y
3. x=-2,y=2 ZRALTRDADEZKRDE I LY,
(1) 5x 2) -2y (3) x°
5x(=2) = —10 2x2 =4 (=2) X (<2) X (<2) = -8
3x—-4
(4) 8 -3y (5) 6x -5y © Y
8-3x2="2 6% (-2)-5%x2 = —12-10 3x(-2)-4  —6-4 10
2 T2 2
(7) —2x% + 5x x3 5 20
22 % (<2) X (=2) + 5 % (~2) ®) —y—2+4+x Or3¥+3,
=-8-10=-18 (=2) X (-2) X (-2) 5x(-2) 20 10 20
B 2% 2 Tatr2=4 3 ' 3x2 36

(12) P
(=2) X (=2) X (=2) X (=2) X (-2)
=-32

(1) —10 ) —4 3) -8
4) 2 (5) —22 6) -5
(7) -18 (8) 4 9) 0
(10) —22 (11) -10 (12) -32




